[[ ool sy yod ;‘]

: St 3 o0y o0 aaly a3 ¥ b :

l b il oyl 1 s JE2) Sl iz V/AY T uitly 4y st 6l 5 ho oo 5| OS5 50 ,Las dlsl - ]
i (2N /7 XNV Tkg/m' i

I 2o LS lein; s, ke (S e ol (gl JS3 U G, Sy o - ]
i her ]
u JJ
LL JJ
I |
LL JJ
I ]

‘T T R ~ SYL ALl mle mhw (B e o g)49, G35 5 ST T H
H lo mhw 51 .0msl o pls 4 A 8,1 31 10 1sn g, 0 H
SYLAYeem B s g h. 5l YL Aem (A GL s I

\Y cm

% Ls h 8
| S e |
UD P | 7] C T[T “Aem e )lid ) Sams o lid 1) (goue Az g lid (A H

l (S g 65 03l | (gl L [

fol jud> ogome 35 IS Lis (o H

90 b ol el g asu ) IS alg) 31y 0 p JBs a4 ube 5ya, JSC5 5o -F
i £35S .l 03,5 JUtl 1y ) ol s iy plo gyl sl o0 4 i
I el B 1B A Ll s ]
. Ceel iz A s gl ,Lai (G 5
H Cogdise 33 A Lhgy0 4 mle Byl 5l g9 az lL T dgl elad ST(o H
i J

i If I could explain it to average person, it wouldn’t ]
[ have been worth the Nobel Prize. 1

i - Richard P. Feynman i



